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1p 18 What is the main point made by Sarah Churchwell in paragraph 5? 
A British authorities should stop financing studies that lack the practical 

implementation of knowledge. 
B Humankind is on the brink of sourcing out intellectual processes to 

artificial intelligence systems. 
C People with proper academic training are essential if we want to adapt 

to changes in society adequately. 
D Technological progress will in time automatically put an end to the 

popularity of superfluous university courses. 
 

2p 19 Geef van de volgende opmerkingen aan of ze spottend bedoeld zijn. 
Noteer ‘wel’ of ‘niet’ achter elk nummer op het antwoordblad. 
1 “Mr Halfon himself must have studied something useful to become an 

MP. Indeed he did: politics.” (alinea 6) 
2 “PPE, the degree taken by scores of leading British politicians over the 

past 50 years, stands for philosophy, politics and economics.” 
(alinea 6) 

3 “Angela Merkel, Germany’s chancellor, may seem an exception, with a 
PhD in quantum chemistry.” (alinea 7) 

4 “The conclusion doesn’t require a philosophy degree.” (alinea 8) 
 
 

Tekst 6  The allure of the British seaside 
 

1p 20 How does the writer introduce the subject of this text in paragraph 1? 
A by asking why the British seaside has such a bad reputation 
B by describing the dual nature of the appeal of the British seaside 
C by focusing on the historical attractions of the British seaside 
D by linking the recent popularity of the British seaside to local painters 
 

1p 21 What is the main point made about the British seaside in paragraph 2? 
A It has a long history of suffering and bouncing back. 
B It has always succeeded in attracting talented people. 
C It has been overlooked as an area in need of assistance. 
D It has recently attracted the attention of foreign investors. 
 

1p 22 Which of the following fits the gap in paragraph 3? 
A cultivate enthusiasm for 
B disclose information about 
C promote tourism to 
D taint the reputation of 
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1p 23 Which conclusion does paragraph 4 lead up to? 
A The inhabitants of British seaside towns have always remained faithful 

to their own traditions and peculiarities. 
B The poor working conditions in British seaside towns have an 

undesirable effect on the local community. 
C The seasonal influx of tourists to seaside towns can cause problems of 

both an economic and social nature. 
D The tension between respectability and grittiness that defines seaside 

towns is enticing. 
 

1p 24 Which of the following fits the gap in paragraph 5? 
A Besides 
B For instance 
C Similarly 
D Still 
 

1p 25 What are “a bi-annual Goth Weekend” and “bemusement park Dismaland” 
(both from paragraph 6) meant to exemplify? 
A the delights of a traditional holiday at the British coast 
B the fact that modern hypes fail to catch on at the British coast 
C the murkier tendencies that are typical of the British seaside 
D the uniqueness of the inhabitants of British seaside towns 
 
 

Tekst 7  Rebooting the real  
 

1p 26 Which of the following fits the gap in paragraph 2? 
A although all governments have this tendency 
B and now these are taking over the internet 
C but basically anyone can do it now 
D which people seem to prefer to the real world 
 

1p 27 Which of the following is in line with paragraphs 2-3? 
A Digital deception is sparked by the gullibility of most internet users. 
B False information is hampering the access people have to proper 

knowledge.  
C People’s reliance on the internet for information will decrease over the 

years. 
D There is a thin line between giving an opinion and spreading false 

information. 
 


